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1. oo faRares Aot Tet fi 1x8=8
Answer the following as directed :

(a) AT T Wl IR IR IWIR ]
PQLI 53081 (e Toree FfRfRe 2

Who developed the PQLI used for
measuring economic development?
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(b)

(2)
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Write one difference between economic

- growth and economic development.

(c)

(d)

(e)
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SIS RS RET R @ < Regeror
TeEy 90

Mention any one failure of the Five-Year
Plans in India. ‘

LPGI =} et forsn o
Write the full form of LPG.
T e ARETE TS,
RIRE ARFER 7S SIT 741 a-0 MoRe
AT Wi I e et swedos |

(8% 7 o o)

During the Tenth Five-Year Plan,
76% was the average growth rate

which was the highest ever growth
achieved during entire plan period.

(Write True or False)

( Continued )

(3)
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India is giving shelter to percent

of world’s population.

(Fill in the blank)

R wetafes 49 (SEZ) 7w fan

Define Special Economic Zone (SEZ).

oA T e 5 Be / o BT gRe

AT Beorm / o BT PRSP Bera
IR TeormRees AfeRRe 3

(o5 Tascor aifk Blerear)
Agricultural productivity is represented
by average yield per hectare of land/

marginal yield per hectare of land/total
yield per hectare. of land.

(Choose the correct answer)
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(4)

2. we fiRees R @ siRbR eo”e oy G
foram 4x4=16

Write short notes on any four of the
following :

(a) A TwE IS

Human Development Index

(b) TS scms
~ NITI Aayog

(c) SRS fr e opfe

Nature of unemployment problem m
. India

(d) SRS TR RewEe
Population explosion in India

(e) ©HES MSME Sramm gfi
Role of MSME industries in India

(N e SR [Fm Somfes

Import substitution industrialization in
India
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(5)

W’iﬁmﬁsqm? @3 SEe WSy Chfere
mww| 4+10=14

What do you mean by ‘underdevelopment™
Explain the basic characteristics of an
underdeveloped economy.

1% /Or
TeT B SER AR o 9 APCE AT 14

Describe about the trend and composition
of national income in India.

. SReR wfAfes wepey RAdn oz B R W

e AT caBEmR I F 1 4+10=14

What are the phases of economic reforms
in India? Explain various characteristics of
New Economic Policy.

1% /Or

Ao S IR M STz B R (s
o qEERT 9 RY Ay srew waeE
Tagae wIer TN F10 4+10=14

What are the objectives of monetary and
fiscal policies? Explain the implications of
both monetary and fiscal policies in India.
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(6)

5. SRe® WE (UEE Retrm IRemz & &9

T (IS (APH I OO TP 47 31 Rfew
WS o JerP Rec s8I F|M1 4+10=14

What are the causes of inequalities in
income distribution in India? Briefly explain
the Government’s policies and measures to
eliminate such inequalities.

1331 /Or

ooy el SR IRFFR R R @) s
TR 0L 5P 1z 1 RIS ~resweprz aman

901 4+10=14
What are the causes of unemployment

problem in India? Explain Government’s
initiative to solve this problem.

. oHes IR W WM TwrR B/
RErz & B2 crree CREET wIwS w9 FRY
FAFRTI TLF A 14

What are the objectives of agricultural
price policy in India? What are its features?
Briefly explain the agricultural reforms
recently introduced in the country.

(7)

w1331 /Or

sRee Smife I Riva som Raa smeaman
LSl

Discuss the various phases of industrial
growth in India.
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